M TIKDKEFEICHDDIREELE (mg /L)

15 B HAEE BT A%
BIEEZILE/X— 0002 |[/N~—2-F5wTJ/GC-MS (BETEREI0 BTXR)
12->/O0TFL> 0.04 cis fK: /IX\—2F59T/GC-MS (JISK 0125 5.1)

(cis {A&trans (KD EET)

AYRZAR—Z/GC-MS (JIS K 0125 5.2)
IN—2 - 5w /GC (FID) ( JIS K 0125 5.3.2)

trans & : /X\— k5w 7 /GC-MS (JIS K 0125 5.1)
AYRZAR—Z/GC-MS (JIS K 0125 5.2)
IN— S5 T/GC(ECD) ( JIS K 0125 5.3.1)

KEEMDREIZHHIDHDHEERIER (mg/ L)
I H K I8 f8 B I5EHE IH B K5 8 A iEEtHE
I=I=F N Py S EX T 07 |Zxz/—IL XK |EY4EB 0.01
£YB 3 B [EPA 2
EYEA 0.006 EYEA 0.2
£ Y4B 3 |HRILLTZILTER| #KkiE |[£HA 1
B ([EBA 0.8 £YB 1
EZL7EEIN 0.8 EMEA 1
Jx/—)L Rk | AEPA 0.05 £ M4B 1
£49B 0.08 o |EYA 0.3
£ YA 0.01 YA 0.03
ORI TAFREBEORESICETIEEREE) 238,
BEERIBEEHSIUIESHE (mg /L)

IE B AN FERKE [T K IE H AN FERKEL [HTFK
I=I=E SN 0.06 2x/7Ah)L7 (BPMC) 0.03
trans—1,2-70O0TIF LY 0.04/ 478X HRX (IBP) 0.008
12->HOnJa/Ny 0.06 ~a)L=kAJx> (CNP) —
p-UH/OAR B 0.2 s 0.6
1VXYFA 0.008 Ly 0.4
BAT) 0.005 JRIVBOTF)ILATIIL 0.06
Jx—kOF A2 (MEP) 0.003 vl —

AT OF A5 0.04 E)ITV 0.07
AX 8 (F#EER) 0.04 ToFEY 0.02
~0040=)L(TPN) 0.05 #BIEEZILE/R— 0.002]
JOEH IR 0.008 IESOnERYY 0.0004
EPN 0.006 EIVAY 0.2
<4-0JL7R X (DDVP) 0.008 o 0.002
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